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r_. 
The figures itt the ntargin indicctte Juil marks.cartdidates are requirecr to git.e trteir a,swers in their own words

as far as practicable.
Symbols hat.e rlrcir ttsual meaning.

1. Answer any.five of the following questions: 
2x5=10t' 

3;iX 
a positive logic oR gate widi diodes and resistor. write down rhe conesponding rruth

(b) convert the binary number 101011'101001 into hexadecimal and decimal numbers.(c) prove the Boolean identity: AB + BC + CA _ AB + CA(d) Distinguish between acdve and passive circuit erements with examples.
(e) A RAU contains 230 nurnber of ,

RAM in GB? 
r'Iq'l,ulr u, wordS and 16 bits per word. what is the memory capacity of

(0 Construct D_FF from J_K FF. Write down irs rruth table.
Q) The calibrated time base of a cRo is set ar 0'1 ms/cm. The horizontar dispray switch is keptat normal position' A sinusoidal signal 

"pp;;d ; rhe verrical a"n"iio, prates gives2'5 cycles over a sweep width of 5 cm. carcui;;; il"ru"n", of rhe sinusoidal signar.(h) a base diffused. resistor stripe in a monorithic IC is of 0.o254imm wide and 0.252i mm rong.
ilJi:Ji',J:r:r1;:; 'n'"t '"'i"un" of the base ainusion is 200 o/square, what is the value of

2. Answer any tw*o of the following questions: 
5x2=10(a) Sketch the logic circuit for a clocked S-R flip-f]op. Give the truth tabre and explain it. r+4=5(b) Define (i) fan oaut 1d (ii) fan in, of a digital IC. Draw a.rogic circuir using NAND gares ro

implement the Boolean *pt;t;;; y = ig + rc-#rite rwo advanra-ees of a ctigital sysremover an analog system. ' " e ' rl rrls rwo aovanta_ees of a 
2+i+2=s(c) List four aclvantages of semiconductor RAMs over core memories. what advanta_ee does a

core memory have over a RAM? what is n,.*, r, .rr. ,*e of a RAM, 
* 

4+yz+yz=5(d) Exprain the fbll0wing instructions for a g0g5 microprocess,r:(i) MOVr, M
(ii) LDA 16_bit

(iii) ADr TsH
(iv) ANA n

4+7=5

Please Turn Over

185

24310

What is the function of the accumulator of ALU?
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3. Answer any tv 

( 2 )

(a) Exprain ,n'o 

ot'n" following questions:

u" g"r..urt- 
operation of an encoder with a block rliqn,o^ n loxz=2o

s+ 
"r,*r",lld 

1I * ;;;;'#'"0'"r with a block dia:

chara*er ::' T'o *"'',i,".']ln' :u"'' ;;;;"*:"*' 
consider that a 

'binary 
code is to

;Tffi r;l::'4t'r,It".rii;r^*iB;,"ffi t'it"ff :ff iit#;li*#:oder can ;; *rr#:.i o,'n1? code. showntedwithnorrnarr;;.'::*T:"'J{ffi T:I::ril:ff :r::@) oe6'" a register. Consrruct a 4-bir shift;"--^-** ::"t 
* diodes' 

2+7+3+2+2=10

,, ;::";d1s 
a seriar-.r*J",L#l;fJHHili,1f,ptu..Exprain 

how tlris shiftresisrer

symbors. ,"# 
rabre for a 3-inpur 

", 
,.".'";; r::'"alshiftregister? 

r*:*s*i=i-o

**ixrrn r,***;*nk#*#", ?H.,tr ffi )fi: },rx. H*d(d) simplify the following Sop form of equadon using Karnaugh Map: 
s*z*s*L7i

f (A, B, c, D) = Z *ro, 1,s, 7, r, r, rr, rilImplement the following expression using an g : I MUX:

f (A, B, c, D) = Z *rr, 4, 6, 7, g, 10, 77, 72, 1.5)

6+4-70

----------


